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import sys
sys.path.append("statlib")
from univ import basic_stat

basic_stat(x, f, verbose=True)
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’import numpy as np



import sys
sys.path.append("stat
from univ import basi
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np.linspace(59.5,
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1233, 641, 201,
a = basic_stat(x, f)

lib™)
c_stat

171.5, num=15)

[2, 6, 39, 385, 888, 1729, 2240, 2007,

74, 14, 5, 1]

sample size
median

mean

unbiased variance
standard deviation
skewness

kurtosis

coefficient of variation

= 9465

= 113.5125

= 113.89957739038563
= 184.8010141916274

= 13.594153676916683
= 0.18935593848947085
= 0.08913261364986358
= 11.935209935260199




